THEFEE—MWBRF AN FERBEALL) ASMERELE(BRIE)[S0FIE]

BT EDHE (SfH6E4A1B~SM74E3831H)

] *H4 TE | Isoms |svv|sma | TER L8
M| BEXEHT7—R F1fg | RA—HXIE A 773 ol 773
M| BEXEHT7—R F178 |[TL AR — 773 ol 773
141 |l &7 —R F158 [L0-£T-avy—rTE | — 906 0| 906
14| X7 —R ¥ (FEIE — 792 0| 792
4|7 —R F1fE |KHIE — 738 0| 738

18501 (MR T7—b- TS/ =T7ULY BA [EX—AI=E B 616 0| 616

18501 (MR T7—b- TS/ =T7ULY BAN [EBIE — 683 0| 683

18617 | HRR =7 —tA—F MmN |EARA—HKIE C 534 0| 534

18617 | HRR =7 —tA—F MmN |[HEIE — 633 20( 653

31871 MK EHIHIA VOS8R AMXEIE B [EXR—AI=E A 1528 0| 1528

31871 MK EHIHIA U OS8R AMXEIE B [U-xT-avsy—bIE | — 1046 0| 1046

31871 |BRRAEHMIHIA U ISEER AMKIE B (B EMIE — 1565 0| 1565

31871 | KX EHIHIA VISR AMKE B (BETE — 902 0| 902

31871 |BRRAEHMIHIA U ISEER AMKIE B |KERERISE A 917 0| 917

43599 (MR EHTMavY MmN (BE-AXIE A 698 0| 698

43599 (MR EHTMavY MR | KII=HE — 604 0| 604

43599 (MR EHTMavY MmN |BIRIE — 618 o| 618

43599 (MR EHTMavY MR |ERIE — 676 o 676

43599 (MR EHTMavY TN |BEI% — 686 0| 686

43599 |k KX T71avy TR g L -hAas-TovsTs| — 599 of 599

43599 (MR EHTMavY MR (RESEETSE — 609 0| 609
19T AHTIERKEHE AMKIE B [ERXR—AI=E A 1486 0| 1486
19| 7AH I TEMATHE AMKIE 25 |BE-—HXIFE A 1469 0| 1469

134T A ARk =4t BA [EXA—AI=E A 765 0| 765

41347 A ARk =4t BR |[U-rT-avsy—bIB| — 878 o| 878

41347 A ARk =4t BR |ZEIE — 876 0| 876

41347 A ARk =4t BA [KHIFE — 681 0| 681

42490 | BB ERKN 1t BREXIE Bs [BERIE — 1351 0| 1351

42490 | BB ERKA St BREXIE Bs [EIE — 1238 0| 1238

42490 (BB EMMKA ST EBRXIE RS |(mBEREIS — 1067 0| 1067

42490 | BB ERHKA 1 BREXZIE B5 BEXREEIE — 1305 0| 1305
8717 AT4—ITy I AM%AEH #F1fg | RA—HXIE B 634 0| 634
8717 AT4A—ITy I AR EH F17& |[TL AR — 634 0| 634
81| 7 AT4—IT v AKX St B |- LTavsy—bTIE | — 693 0| 693
8717 ATA—ITy I A%AEH ¥ (FEIE — 634 0| 634
8717 ATA—ITy I A%AEH #1788 |AIE — 720 0| 720
8717 ATA—ITy I A%AEH #1718 |ERIE — 634 0| 634
8717 ATA—ITy I A%AEH ¥15E (BEISF — 634 0| 634
11| FATA—ITvIAKK &1 F1IE |2 -hAD-TOvsIH| — 680 0| 680
8717 AT4A—ITv I A%AEH F15E (MEEYMIE — 634 0| 634
8717 ATA—ITy I A%AEH F15E (MELBIE — 634 0| 634




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
87| 7ATA— IV AKR &4 F1E HELE — 630 0| 630
8717 ATA—ITy I AR EH #1718 |LwAEDIE — 630 0| 630
8717 AT4A—ITy I AM%AEH #1178 |RWMFERETISE — 665 0| 665
8717 AT4A—ITy I AR EH #1158 |KERZRISE A 630 0| 630

39| TATVIHKAK 4L B5 |BRIE — 873 0| 873

49| TA TV R4 Bs [EIE — 867 0| 867

34973 |7 A TR R B9 |(mBEREIS — 913 0| 913

34973 |7 ATk A R Bo [KERETE A 948 0| 948

49| TA TV R4 B EBEER TS — 848 0| 848

10800|7 A LB I EKASE NINXIE B5 |BRIE — 748 0| 748

10800|7 A LB I EKASE NINXIE Bs [EIE — 801 0| 8ot

10800|7 1 LB T XMt AMKIE B |(mBREREIS — 901 0| 901

108007 1 LB T XMt AMKIE Bo [KEREZTE A 776 0| 776

31894 | MK 71D RIBE XM #F1fg | RA—XIE B 690 0| 690

31894 | MK 710 RIBE XM B |- LTavsy—bTIE | — 741 o 741

31894 | % XEHTA47 RIGE XA F151E (MEEYMIE — 680 0| 680

31894 | i XEHTA47 RIGE XA F15E (HWFERELS — 879 0| 879

31894 | %X EHTA47 RIGE XA F1fE |KERZRISE A 680 0| 680

31909 | (kX =#1iF RIBXIE #F1fg | RA—HXIE A 1024 0| 1024

31909 | (kX =#1iF RIBXIE #1178 | RIS — 712 ol 712

31909 X =tiE RBXIE F15E (MEEYMIE — 712 o 712

31909 | (X =#1iF RIBXIE F1E WELE — 823 0| 823

31909 | (kX =#1iF RIBXIE F17&8 |LwAEDIE — 712 ol 712

31909 | (kX =#1iF RIBXIE F1fE |BEIE — 712 o] 712

31909 | MK =tiE RBXIE F1fE |KEREIE A 841 0| 841
105| EARHILHEFRKAEH AMKIE B [EXR—AI=E A 1636 -10| 1626
105| EARHILHERMA S AMKIE B |BE-—HXIE A 1626 -10| 1616
105| ERHILHEFRKA S AMKIE B5n ([LeAtED2IE — 1168 -10[ 1158
105| EARHILHERKAEHE AMKIE Bo [KEREZTE A 1327 -10| 1317

18650797547 MmN |[EA—HKIE C 481 0| 481

18650797547 TN |BEIE — 520 0| 520

18650| 77547 MR |[KERRIE B 476 0| 476
229X RHiFBHE AMXKIE B [EXR—ARI=E A 1618 0| 1618
229| (X =HLZBE AMKIE 25 |BE-HXIFE A 1837 0| 1837
229X HiFBHE AMXKIE Bs [EIE — 1215 0| 1215
229X RHiFBHE AMXKIE B |SEIE — 1074 0| 1074
229| X =HLZBHE AMKIE Bo [KEREZTE A 1386 0| 1386
229X HiFBHE AMXKIE L N 37 = — 1418 0| 1418
658X BE T4t BA [EXA—AI=E B 677 ol 677
658| Mk EE T4 BA [EISE — 900 0| 900
658 | X EE T4 BAN |BRBEREIS — 746 0| 746
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] $E4 TE | Isoms |svv|sma | TER L8
658 | XM BE T+ BA [KEREEZTE A 677 0| 677
658| X EE T4 BN |HEHERTIE — 682 0| 682
9| BERERERH BA [EX—AI=E A 894 0| 894
19| NBEEHFR=1 BN |FLARLRE — 757 o| 757
9| BERERERH BR |BE-—AXIF A 689 0| 689
19| IBEEHFR=1 B |[cv-xT-avsy—tIsE| — 830 o 830
19| IBEEHF R4 BR |ZEIE — 790 0| 790
19| IBEEHFR=1 BR |SEIS — 684 0| 684
19| IBEEFR=1 BA (BEIZE — 775 0| 775
19| BEEFR=1 BA (HKIE — 710 0| 710
T19|BEER B BA [KEREEZTE A 693 0| 693
19| IBEEHFR =1 BR |f#AIE — 702 0| 702
564 (kXSHEARTEH AMZIE Bs [EIS — 1732 0| 1732
564 (XS HEARTEH AMZIE B EREER TS — 1096 0| 1096

15492 (iKX= T7HEa YL BA [EXA—AI=E A 859 0| 859

15492 (iKX= T7HEaVYIL BR |eU-rI-avsy—bIs| — 1020 o[ 1020

15492 (iKX= T7HEaVYIL BR |ZEIE — 998 0| 998

15492 (iKX= T7HEaVYIL BA [KHIFE — 729 o] 729

80006 B % THE X =4t B |(mBEREIS — 741 0] 741

80518| MR T4/ \HE BA [EX—AI=E B 655 0| 655

80518| MK BT L4/ \HE BA [BERIE — 893 0| 893

80518| MR T4/ \HE BA [EISE — 784 0| 784

80518| MR T4/ \HE BR |HBEMIE — 660 0| 660

80518| MRt T4/ \HE BR |BERBEIS — 715 0| 715

80518| MR T4/ \HE BR |KEBHRISE A 712 0| 712

80518| MRt T2/ \HE BN |HMAERTIE — 664 0| 664

34962 |7 XE LR EH ELSRTLALA=—AMKE | BS |EKRITE — 1898 o[ 1898

34962 |7 RE LRt ELVRTLAVA=—AMEE | B [EITE — 1666 0| 1666
464| M T X4t Bs [EIE — 583 0| 583
464| M T X4t B9 |(mBEREIS — 687 0| 687
464 |FREM T X4t Bo [KEREZTE B 558 0| 558

43597 |k &= 7R Bs [BERIE — 845 0| 845

43597 |k &= T EUH Bs BEXREISE — 944 0| 944
01| 7 FEEKRARH F2fE (BE—ATE A 674 0| 674
01| 7 FEEK/RARH F2fE (BRIE — 697 0| 697
01| 7 FEEK/RARH $2f8 |EIS — 906 0| 906
01|78 FEEKRASH F2fE (MWFERELS — 805 0| 805
01| 7 FEEK/RARH ¥2fE (BEIE — 708 0| 708

1029| AR 7R/AVR MmN |EARA—HKIE B 637 0| 637
1029| AR = 7R/AVR MmN (BE-AXIE B 619 0| 619
26294 | M XU TEEAMIE AMKZIE Bsn [ER—AI=E A 1357 0| 1357
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] $E4 TE | Isoms |svv|sma | TER L8
26294 | M XM TEAMIE AMKZIE B [FLRRLRE — 1357 0| 1357
26294 | XM TEEAMIE AMZIE 25 |BE-—HXIE A 861 0| 861
26294 | XU TEEAMIE AMKZIE BE5 |ev-tToavoy—bIE | — 1172 0| 1172
26294 | M XU TEEAMIE AMKIE B5 [EZEIE — 973 o] 973
26294 | MK TEEAMIE AMKIE B5 (B EYMIE — 922 0| 922
26294 | M XU TEAMIE AMZIE B |HELEIE — 922 0| 922
26294 | M XU TEBAMIE AMKIE B (BEIE — 981 0| 981
26294 | MR TEEAMIE AMKZIE B5 (FHKIE — 824 0| 824
26294 | MR REEAMIE AMKIE Bo [KEREZTE A 1289 0| 1289
39133|7 LavkA &4t Bs [EIE — 755 0| 755
391337 LavkR a4t B9 |(mBEREIS — 775 0| 775
220| (X =LA MmN |[EARA—HKI=E A 1031 20 1051
220| XA TRAH MmN (BE-AXIE A 880 10| 890
220| (X =L FTARHE TR |ev-tI-avsy—bIE| — 802 10| 812
220| (X =L FT AR MmN |BEIE — 701 10 711
220| (X =LA MmN |[HEIE — 701 10| 711
220| (X =LA MmN |LwAEDIE — 701 10 711
220| (X =LA TR | BEIE — 701 10 711
220| (X =LA MmN |BhKIE — 701 10 711
220| (X =LA MmN (BRI — 701 10 711
220| XA TRAH MR |[KERRIE A 731 10| 741
220| (X =LA MmN (RIS — 751 10| 761
517 ALHIE MmN | ARA—HKIE B 681 0| 681
517 | ATHE MmN (BE-AXIE A 704 0| 704
517|FAIHKIE MR |[KERRIE B 604 0| 604
10757 |RAEER R MmN |EARA—HKIE B 716 10| 726
10757 |RAEER R il 2 PGS — 704 10| 714
10757 |RAEER R TR |BEI% — 789 10| 799
10757 |RAEER R MR |[KERRIE A 741 10| 751
630| (X BFHESE MmN |EA—HKIE A 749 20 769
630| XLt HBARSE A |eU-£T-avs)—IE | — 627 20| 647
630| Xt FAEE MR |BEIE — 612 20| 632
630| Xt EAEE MR [LwAEDIE — 642 20| 662
5| AT EHE MmN | A—HKIE A 816 0| 816
533X T RE A |eU-£T-avs)—IE | — 877 o| 877
533 MR R LHE TR | BEIE — 825 o 825
5| AT EHE TR | EETE — 772 o] 772
184| (X R WIS Bsn [EXR—AI=E A 1885 0| 1885
184| (X WIS 85 [FLRRLRE — 1497 0| 1497
184| (X R WM XIS 25 |BE-—HXIE A 1902 0| 1902
184| (Xt RiE-F WIS B4 [KIIE — 1108 0| 1108
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] $E4 TE | Isoms |svv|sma | TER L8
184| (X R WM XIS 85 [EEISE — 1107 0| 1107
184| (X R WM XIS BEs |ev-tToavoy—bIE | — 1502 0| 1502
184Xt LB AMXKIE B5 [ZEIE — 1226 0| 1226
184| (X R WM XIS Bs (IS — 1126 0| 1126
184| (X R WM XIS Bs [BRIE — 1209 0| 1209
184| (X AMXIE B5 |BRIE — 1250 0| 1250
184| (X R WM XIS Bs [EIE — 1244 0| 1244
184| (X AMXIE B5h |g1L-hAn-TJovsTEl — 1134 0| 1134
184Xt LB AMXKIE B (B EYMIE — 1294 0| 1294
184| (X R AWM XIS B |HELEIE — 1251 0| 1251
184| (X R WM XIS B |SEIE — 1230 0| 1230
184| (X R WM XIS B4 |LwAEDIE — 1133 0| 1133
184| (X AMXIE B85 [HSRIHE — 1112 0| 1112
184| (X RHE-FH WM XIS B (BEIE — 1202 0| 1202
184| (X R WM XIS B5 (HKIE — 1213 0| 1213
184| (X R WM XIS B5 |MELETE — 1302 0| 1302
184| (X R WM XIS Bs [ERIE — 1132 0| 1132
184| (X R WM XIS B5 |BEIE — 1122 0| 1122
184| (X R AMXIE Bo [KERETE A 1409 0| 1409
184| (X R AMXIE B |fRAIE — 1409 0| 1409

80350|/ —IXIRFA TV KA R BA [EISE — 599 0| 599

80350 [/ —IXIRIEIALTVIKAEH BA |BRBEREIS — 698 0| 698

15575 | (kRS A —T LS XE BR |tA—=KI=E B 660 0| 660

15575 | et A —T LS R K BR |(v-tTeavsy—rIE| — 645 0| 645

15575 | (kRS —T LS XL BA [BERIE — 752 0| 752

15575 | (kR —T LS XE BN [EXAEISE — 781 0| 781

20709 |ERIX B T EH A =1L B5 |BRIE — 1161 0| 1161

20709 |ERIX B T EH A =4L Bs [EIE — 1085 0| 1085

20709 [BRIZ B T XMt B9 |(mBREREIS — 953 0| 953

20709 |ERIX B T EH A =4 B |BRBEIS — 849 0| 849

20709 [BRIZ B T XMt Bo [KEREZTE A 846 0| 846
992| AR EREE T MmN |EARA—HKIE B 652 0| 652
992| FRSMEREE T TN |BEI% — 761 0| 761
992| RS EREE T MmN |[KERRIE A 785 0| 785

10591 (MR =1 EREES ) — RS MR | ARA—HKI=E A 750 25| 775

10591 [Me R SRS — B A |eU-£T-avs)—IE | — 764 25| 789

10591 (MR =1 EREES ) — RS MmN |BEIE — 621 25| 646

10591 (MR =1 EREES ) — RS mN (SEEMIE — 616 25| 641

10591 (MRS EREES ) — RS MmN (HEIE — 616 25| 641

10591 | KX =1t EREE S — U RS MR [LwAEDIE — 616 25| 641

10591 (MR =1 EREES ) — RS MR |[KERRIE A 616 25| 641
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] $E4 TE | Isoms |svv|sma | TER L8
90| HRR=HAERTE MmN |[EARA—HKIE C 472 o 472
60| HRRHAERTE A |ev-rT-avs—bIE| — 470 of 470
960| HRRHAERTE MR |[BIE — 467 0| 467
60| HRR=HAERTE TN |BEIE — 492 0| 492
960| HRRSMAERT X MmN |[KERRIE B 473 0| 473

26302 | S B KR T XERIEH TR | ZBEIE — 533 0| 533
415| XA MA T BA [EX—AI=E A 848 0| 848
415| XA MA T BR | FLARLRE — 802 0| 802
415| Rt E T % BR |BE—AXIF A 1110 0| 1110
45| HMEA TR B |(cv-xT-avsy—tIsE| — 774 of 774
415| MR MA T BA [ZEIZE — 774 o] 774
415| MR MA T BA [EISE — 842 0| 842
45| HMEATE BR |LwAtEDIE — 759 of 759
415| (XA MA T BA (BEIZE — 904 0| 904
415| XA MA T BA (HKIE — 828 0| 828
415| XA MA T BR |f#AIE — 794 0| 794
367|REKEIXBREM MmN |EARA—HKIE C 547 10| 557
67 |HREKEIEXFR=H TN |BEIE — 555 10| 565
367|REKETEHRESH MR |[KERRIE B 550 10| 560
549 | (XS ERET U mN (SEEMIE — 687 10| 697
549X HRETUL MmN (RESEETSE — 609 10| 619
882|FE NI —HA=H MR (BRI — 719 ol 719

51X FHE AMEKE B |(mBEREIS — 1401 0| 1401
51X FHE AMEKE B |KERERISE A 1209 0| 1209

80194|BIEALTHUAK%A S hMEKIE B |(mBEREIS — 1174 0| 1174
M|k ARBEIEE MmN (BE-AXIE A 934 0| 934

42520 | (kK= AR BA [EX—AI=E A 1006 0| 1006

42520 | (kK= AR BR | FLARLRE — 985 0| 985

42520 | (kK= AR BR |[U-rT-avsy—bIH| — 817 o 817

42520 | (kX =1 AR BR |ZEIE — 817 0| 817

42520 | (kK= AR BA [EIF — 720 0| 720

42520 (#r R =t ARME BR |HBEMIE — 725 0| 725

42520 | (kK= AR BA |HBELEIE — 725 0| 725

42520 | (kK= AR BR |SEISE — 725 0| 725

42520 | (kX = AR BA [LeAtEDIE — 725 0| 725

42520 | (kK= AR BA (BEIZE — 720 0| 720

42520| (kX = AR BAN [EBIZE — 720 0| 720

42520 (#r R =tARME BR |KEBHRISE A 851 0| 851

42520 | (kK= AR BR |f#AIE — 750 0| 750

1076| kKXt 1 <L BR |BE—XIF A 767 0| 767
1076 | Xt 12 <L B |(cv-xT-avsy—tIsE| — 689 o 689




SHOEE—MRBFEEFALGEEFEAIL) AfLSMERERE(BERITE)[50FE]
BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
1076 |12l BR |BHKIE — 694 0| 694
1076 |17l BR |NELLEIE — 814 0| 814
1076| kXt 1 <L BAN |BRBEREIS — 674 0| 674
1076 |1 <L BRN |BEIS — 748 0| 748
1145 | B R R)IHR%E MR (BRI — 663 20 683

157 (%Rt AT BA [EX—AI=E B 619 0| 619
157 |1t AT BA [FLRRLRE — 619 0| 619
157 (%Rt A4T B |eU-tT-avsy—bIE| — 622 o] 622
157 | =1tAT BR |ZEIE — 619 0| 619
157 | =1tAT BA (BEIZE — 775 0| 775
157 |1t AT BA (HKIE — 677 0| 677
27| ERHHFEE MmN |EA—HKI=E A 720 20( 740
27| ERHHFEE TR |ev-tT-avsy—bIE| — 670 20( 690

10804 | HFEE MR |EA—HKIE C 533 10| 543

10804 | H F:ER TR | EETE — 486 10| 496

43590 (MR FEE IR AMKIE Bs [EIE — 751 0| 751

43590 | MR XS+ FRHEITRT AMXIE B |(mBEREIS — 845 0| 845

26248 | RSk T EMB KX S BR |HBEMIE — 775 0| 775

26248 | Rk T EMBE A St BA |HBELEIE — 711 ol 711

10792 | kX =1t Filk BR |BE—AXIF B 642 0| 642

10792 (#4X=4t TRk BA (BRIE — 707 0| 707

10792 (#4X=4t TRk BA [(AZRIE — 637 0| 637

10792 (#4X=4t TRk BA (HKIE — 700 0| 700

10792 (#4X=4t TRk BN |NELLEIE — 694 0| 694

10792 (#4X=4t TRk BRN |BEIS — 726 0| 726

NHARUHAFIYERIE HEEER| 118 [EXISE — 998 0| 998

NBKARUAFIYYERIE HEEER| £11E (EXREEIS — 815 0| 815

NBKARUAFIYYERIE HEEER | F171E HESRISE — 754 0| 754
936 | kX =L S HTHE BA [EX—AI=E A 1030 0| 1030
936 | kX =L S HTHE BR | FLARLRE — 834 0| 834
936 | X RS HHH BR |BE-—AXIF A 937 0| 937
936 | kX =L S HTHE BR | KIIE — 687 0| 687
936 | kX =L S HTHE BN |[EEIE — 687 0| 687
936 | kX =L S HTHE B |eU-tT-avsy—bIE| — 759 ol 759
936 MKt S HTHE BR |ZEIE — 739 ol 739
936 | kX =L S HT#E BERXN |AIE — 687 o| 687
936 |1t S AT BA (BRIE — 687 o| 687
936 |t S AT BA [BERIE — 689 0| 689
936 | kX =L S HTHE BA [EISE — 690 0| 690
936 | kX =L S HTHE BR |4/L-hAb-TovoIE| — 687 0| 687
936 | XL S+ BA (fHEEYMIE — 687 0| 687
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] $E4 TE | Isoms |svv|sma | TER L8
936 | kX =L S HTHE BR |HBELEIE — 687 0| 687
936 |t S AT BA (#KHIE — 687 0| 687
936 MRt S AT BA |[HEISE — 687 0| 687
936 | kX =L S HTHE BA [LeAtED2IE — 709 0| 709
936 | kX =L S HTHE BA (HRE&EIE — 687 0| 687
936 | kX =L S HTHE BA [AZRIE — 690 0| 690
936 | kX =L S HTHE BA (BEISE — 688 0| 688
936 | kX =L S HTHE BA (HKIE — 699 0| 699
936 | kX =L S HTHE BN |NELLEIE — 704 0| 704
936 | kX =L S HTHE BA (BgEIE — 687 0| 687
936 | kX =L S HTHE BA [(EBIZE — 687 0| 687
936 | kX =L S HTHE BR |BEIS — 687 0| 687
936 | XL S+ BR |KEMBHRISE A 790 0| 790
936 MRt S AT BR |f#AIE — 816 0| 816
930| R R LVFL S MmN (RELETSE — 525 0| 525

29597 | XA F+H BA [EX—AI=E B 685 0| 685

29597 | KR4V FH BA [FLRRLRE — 600 0| 600

29597 |47 F+H BERN |AIE — 572 0| 572

29597 MR ATFH BA [EIFE — 619 0| 619

29597 |k XA F+H BA |[HEISE — 572 0| 572

29597 MK ATFH BA [LeAtED2IE — 572 0| 572

29597 | X EttAIFH BA [KEREEZTE A 647 0| 647
436 | kX =4t Bk MmN | ARA—HKIE A 827 0| 827
436 | kX =4t Bk MmN |[FLARLRE — 723 0| 723
436 | Bt &2t Bk HR A |[ev-tTavsy—bIE | — 785 0| 785
436 | kX =4t Bk MmN [(FEIE — 701 0| 701
436 |tk =4t 5K MR |[BIE — 669 0| 669
436 | R X =t 5k TR |HEEYMIE — 683 0| 683
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190X F 1R BR |SEIE — 706 0| 706
190X T 1R BA [LeAtED2IE — 721 o] 721
190X T VR BR |KEBHRISE A 706 0| 706
190X T 1R BR |f#AIE — 712 o] 712
36| KEURIAKKK =L AMXIE Bs [EIE — 1611 0| 1611
225| K EBRMREE AMXIE B [EXR—AI=E A 2045 0| 2045
225| KELESBHARHE AMXIE 25 |BE-—HXIFE A 2064 0| 2064
225| K EBRMAEE AMXIE B5 |BRIE — 1731 0| 1731
225| K EBRM AR AMXIE Bs [EIE — 1743 0| 1743
225| KELESBHARH WMXIE B |KERERISE A 1704 0| 1704
840| MR AR EXE BA [EXA—AI=E B 723 o 723
840| MR AR EXE BAN (BE-AI=E A 788 0| 788
840| Rt AR EE % BR |[U-rT-avsy—bIB| — 803 0| 803
840| MR AR EXE BR |HBEMIE — 703 0| 703
840| MR AR EXE BA (BEIZE — 925 0| 925
840| MR AR EXE BA (HKIE — 844 0| 844
840| X R AR EXE BR |f#AIE — 734 0| 734

80068 | KRk fRtk X4t ALINZIE Bs [EIE — 1620 0| 1620

10586 | KR EERMH AR+ BA [EXA—AI=E A 852 0| 852

10586 | KR EERM A =4 BR |[U-rT-avsy—bIB| — 766 0| 766
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80373 (X KRR BR |BE-—AXIF B 661 0| 661
80373 (X KRR BR |[U-rT-avsy—bIB| — 651 0| 651
80373 (X KRR BA [EIE — 854 0| 854
80373 (X KRR (R BR |SEIE — 650 0| 650
80373 (X KRR BA [KEREEZTE A 732 0| 732
80373 (X KRR BA [PHEAEERTISE — 652 0| 652
80373 (X KRR BR |f#AIE — 651 0| 651
80213(#%X&tt KACATVY BR |[U-rT-avsy—bIB| — 696 0| 696
80213 |¥kX &1t KB HTYY BR |ZEIE — 644 0| 644
80213 |¥kX &1t KB HTYY BA [KHIE — 656 0| 656
39111 | KAARELAK|RAEH AIMXIE B [EXR—AI=E A 1618 0| 1618
M| KAXRETAKK S AMXIE 25 |BE-—HXIE A 1590 0| 1590
M| KAXRETAKK S AMXIE Bo [KERETE A 1331 0| 1331
608|F A TR =+t BA [EXA—AI=E A 815 0| 815
6082/ A HEX =1t B |[cv-xT-avsy—tIsE| — 853 o 853
608|F A TR =4t BA (BEITE — 749 0| 749
608|F A NI =%t BA (HKIE — 696 0| 696
6082 A NI =4t BR |f#AIE — 817 0| 817
80374| KEEFIMASH AMXIE B [EXR—AI=E A 1742 0| 1742
80374| KEEXMA R AMKIE 25 |BE-—HXIFE A 1706 0| 1706
154| AREHRET X MmN |EARA—HKI=E B 658 20| 678
154| AREHRET X TN |BEI% — 778 20( 798
154| BREH KRBT % MmN |[KERRIE A 774 20 794
154| AR RET X MmN [HERER IS — 658 20 678
10623 | R = AT 17U BA [EXA—AI=E A 991 0| 991
10623 | R F 17U BA [FLRRLRE — 813 0| 813
10623 [ EH A1 BR |BE—AXIF A 830 0| 830
10623 | R F 17U BA (BIE — 688 0| 688
10623 | f R = AT 17U BA [EISE — 723 0| 723
10623 [ EH A 17 BR |HBEMIE — 688 0| 688
10623 | f R AT 17U BR |HBELEIE — 688 0| 688
10623 | R = AT 17U BR |SEISE — 738 0| 738
10623 | R R AT 17U BA [LeAtED2IE — 688 0| 688
10623 | R FT 17U BAN [EBIE — 688 0| 688
10623 [ EH A 17 BA [KEREEZTE A 837 0| 837
10623 | f R AT 17U BR |f#AIE — 735 0| 735
M MR ANEEE BA [EXA—AI=E A 824 o 824
M MR ANEEE BN |FLARLRE — 691 0| 691
79| MR RKAEE BRN (BE-AI=E A 699 0| 699
M MR ANEEE BERN |AIE — 671 0| 671
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M MR ANEEE BAN [EBIE — 671 0| 671
IR RAEE BA [KEREEZTE A 676 0| 676
M MR ANEEE BR |f#AIE — 671 0| 671
989 | HIREHL T 1 A fE MmN |EARA—HKIE B 600 10| 610
989 | HIREHL T 1 A fE TR |ev-tI-avsy—bIE| — 600 10| 610
989 | HREHLH 1 A fiE MR [(FEIE — 600 10| 610
989 | HREH T 1 A fE TN |BEIE — 682 10| 692
989 | HREHLH 1 A fiE MmN |[HEIE — 600 10| 610
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80122 | ESEEMARHE HREEXRM F1E (FEIE — 798 0| 798
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91| TEERIENRASE BREXRAR #F1fg | RA—HXIE A 1114 0| 1114
91| TEERIENRASE BREXRAHR F17& |[TLAR R — 943 0| 943
91| TEERIENRAEE BREXRAR B |- Tavsy—bTIE | — 934 0| 934
91| TEERIENRAEE BREXRAHR ¥ (FEIE — 845 0| 845
91| TEERIENRAEE BREXRAHR #1788 |AIE — 753 0| 753
AN |MTTEBRIERA S BREER F15E (MEEYMIE — 753 0| 753
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41| TEERIENAEE BREXAHR F1fE |BEIE — 753 0| 753
91| TEERIENRAEE BREXRAHR #1712 |EEIE — 808 0| 808
491 | TFTRET MRt BREERR #1158 |KEREIE A 929 0| 929
91| TEERIENRAEE BREXRAR F15E (RAIE — 753 0| 753
20| iRREHM P IHE AMKIE B [ERXA—AI=E A 1338 0| 1338
20| XU P ITHE AMXZE 25 |BE-—HXIE A 2057 0| 2057
80059 (MR XEHMP LR AMIE B [EXR—AI=E A 1821 0| 1821
80059 |MERX &M LR AMKIE 25 |BE-—HXIE A 1392 0| 1392
80059 |MERX &M LR AMKIE Bo [KEREZTE A 1239 0| 1239
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22841 M XL HIE T 2 A |[ev-tTavsy—bIE | — 574 25| 599
22841 | RSt HIE T % MR |ZEIE — 531 25| 556
490| B S22 RIHKIE TR |BE-AKIE A 678 0| 678
80217 (#M#ARHIET % MmN |EARA—HKIE C 543 10| 553
80217 | MR EHIETE MmN |[FLARARLRE — 469 10| 479
80217 |MREHTETE A vt avsy—bIE | — 587 10| 597
80217 (#MARHIET % MmN (RIS — 527 10| 537
892| AP TH AR BA [EXA—AI=E A 965 0| 965
892| AP TEHKASH BR |BE—AXIF A 824 0| 824
892| AP TEHKA=H BR |[U-rT-avsy—bIB| — 1034 0| 1034
892| AP TEHKA=H BR |ZEIE — 1034 0| 1034
892| P T KKt BR |SEISE — 728 0| 728
892| AP TEHKA=H BA ([LeAtED2IE — 728 0| 728
892| AP TEHKASH BA (BEIZE — 743 0| 743
892| AP TEHKA=H BAN [EBIE — 728 0| 728
892| AP TEHKASH BA [KEREEZTE A 728 0| 728
892| AP TEHKA=H BR |f#AIE — 738 0| 738
428| BR AP THIE N |EA—HKI=E C 568 0| 568
428| ERR St HEP ITHEIE MmN (BE-AXIE B 598 0| 598
428| BR AP THIE TR |ev-tT-avsy—bIE| — 529 0| 529
10533 | AR HFP THE MmN |EARA—HKIE A 730 30| 760
10533 | AR HP THE MmN |[FLARLRE — 656 10| 666
10533 | AR HP THE mh (BE-AXIE A 706 10| 716
10533 | AR HFP THE MmN | KII=HE — 657 10| 667
10533 |BR &t AH TEE A vt avsy—bIE | — 648 10| 658
10533 | AR HFP THE MmN [(FEIE — 646 10| 656
80376 | A X EE XA BA [EX—AI=E B 650 0| 650
80376 | A X EE XA R BR |BE—AXIF A 919 0| 919
80376 | A X EE XA B8R [KIIE — 660 0| 660
80376 | A X EE XA BA (BRIE — 675 0| 675
80376 | A X EE XA R BR |NELLEIE — 671 0| 671
80376 | A X EE XA R BR |f#AIE — 711 0| 711
102|FR=%# HHPER MR [ERIE — 524 10| 534
07| BERR =t AP EE TR | ZBEITE — 760 0| 760
07| BERR =t AP ZEE MR (HKIE — 693 0| 693
469 | MRt B HREEXM F15E (BE—ATE A 1317 0| 1317
15576 |2 =—d—#% A=t RIGEZER Bs [EIE — 1416 0| 1416
80129 | (kX =1t B E BN BA [BERIE — 895 0| 895
80129 | (kX =1t B E BN BA [EISE — 941 0| 941
80129 (MRt AREFEH TN BAN |(BRBEREIS — 744 0| 744
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80129 | (kX1 B E BN BA [PHEHAEERTIE — 745 0| 745
04| XS ERES BA [EXA—AI=E B 673 o 673
04| iR ERES BRN (BE-AI=E A 904 0| 904
04| iR ERES BR |[U-rT-avsy—bIB| — 678 o| 678
04| XS EREES BR |f#AIE — 700 0| 700
80377 (M X AMER BA [BERIE — 778 o] 778
80377 (M X AMER BA (EWBEEREIS — 602 0| 602
80377 (M X AMER BAN |[EXAEEIE — 615 0| 615
409 | MK R AATHER BR |[U-rT-avsy—bIB| — 736 ol 736
409 EREHAATHER BA [ZEIZE — 683 0| 683
409 (R REHAATHER BAN [EBIZE — 826 0| 826
20704| HRR=#1 2 RRRA MR |EA—HKIE B 631 0| 631
20704| RS ZRRBRA MmN (BE-AXIE B 520 0| 520
20704| FRR=#1 2 RRBA MR |sv-tToavsy—bTE | — 540 ol 540
20704 ER=#Z RERA TR | EETE — 587 0| 587
80196 (M XEHHPRER BR |BRIE — 708 0| 708
26192| FR=#LPREHR MR [ERIE — 767 30 797
497\ REReEEKRARMH MmN [T ARA—HKIE B 624 0| 624
497\ REReEEKRARMH A vt avsy—bIE | — 771 o 77
497\ REReEEKARH TR | ZBEIE — 810 0| 810
80109 (4 XEH RILER BA [EXA—AI=E A 731 0| 731
80109 (4 XEH RILEER BRN (BE-AI=E A 726 0| 726
80109 (4 XE# RILER BR |[U-rT-avsy—bIB| — 712 of 712
80109 (4 XE# RILEER BA [BERIE — 1034 0| 1034
80109 (4 XE# RILEER BA [EISE — 953 0| 953
80109 (#XEH RILER BA (HEEYMIE — 712 o 712
80109 (#XEH RILER BR |SEIE — 712 o] 712
80109 (#4XE# RILEER BA (BEIE — 712 o] 712
80109 (4 XE# RILER BA (HKIE — 712 o] 712
80109 (4 XE# RILER BAN |BRBEREIS — 743 0| 743
80109 (#XE# RILER BAN |[EXAEEISE — 856 0| 856
80109 (#XE# RILER BAN [EBIZE — 712 o] 712
80109 (4 XEH RILEER BA [KEREEZTE A 726 0| 726
80109 (#4XEH RILEER BN |HHERTIE — 724 0| 724
80109 (4 XEH RILEER BR |f#AIE — 712 ol 712
405 |k X2t Fa—T A F15E (BE—AIE A 735 0| 735
405 |k X2t Fa—TA( F11E (BERIE — 1114 0| 1114
405 |k X2t Fa—T A F15E (MELBIE — 726 0| 726
405 |k X2t Fa—T A #1172 |ERBEEISE — 845 0| 845
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07| FEEE BA [EBIZE — 708 0| 708
07|t FEESR BR |KEMBHRISE A 708 0| 708
07| FEEE BR |fAIE — 738 0| 738
922 | XL FILEEE MmN |EA—HKIE A 944 40| 984
922 | XL FILEEE MmN |[FLARLRE — 766 20| 786
922| Xt FILES A vt avsy—bIE | — 745 20| 765
922 | XL FILEE MR |ZEIE — 706 20| 726
922 | XL FILEEE MmN |[BIE — 664 20| 684
922| (kX =1t FILEE TR |HEEYMIE — 664 20| 684
922 | XL FILEEE mN (SE LIS — 664 20 684
922 | XL FILEEE TR |SETE — 679 20| 699
922 | XL FILEEE MmN |LwAEDIE — 742 20 762
922 | XL FILEEE TR | ZBEIE — 664 20| 684
922| (kX =1t FILEE MR |KERRIE A 736 20 756
922 | XL FILEEE TR |fEAIE — 683 20| 703
28| BEREEMRASHE AMXE B [EXR—AI=E A 1058 0| 1058
N2B|BEREEKRA S AMXIE 25 |BE-—HXIFE A 1156 0| 1156
28| BEREEMRASHE AMXE B [LU-xT-avsy—bIE| — 953 0| 953
28| EREEMRASHE AMKE B5 |BRIE — 1261 0| 1261
N2B|BEREEKRA S AMKIE B (B EMIE — 1310 0| 1310
28| BEREEMRASHE WMXE B (BEIE — 1126 0| 1126
1M28|ESEEKRK S NIMNKIE B5 [BEXREEIE — 1367 0| 1367
M2B|BEREEMRASHE WMXE B |fRAIE — 1050 0| 1050
221 | (XS BEM MBI AMEKE | B4 |TA—HKIE A 1007 0| 1007
221 | (XS BEM MBI AMEKE | B4 |[BHREREIS — 1476 0| 1476
221 | (XS BEMHMEERT AMEKIE | B4 |[KEERIE A 1241 0| 1241
852|#k X2 DENKEN F2fE |t RA—XIE B 688 0| 688
852|#k X2 DENKEN F27& |TLARL R — 688 0| 688
852|#k X2 DENKEN F2fE (BE-—ATE A 673 0| 673
852|#k X 2 DENKEN B2 LT -avs—bIE | — 688 0| 688
852|#k X2 DENKEN F2f8 I FEIE — 688 0| 688
852|#k X2 DENKEN $2f8 | RIS — 668 0| 668
852|#k X = DENKEN F2fE (BRIE — 943 0| 943
852|#k X 2 DENKEN $2f8 |EIS — 698 0| 698
852|#k X =2 DENKEN F2fE (MEEYMIE — 668 0| 668
852|#k X =2+ DENKEN F2fE (MELMIE — 668 0| 668
852|#k X2 DENKEN F2fE |BEIE — 668 0| 668
852|#k X2 DENKEN #2f |ERBEEISE — 923 0| 923
852|#k X2 DENKEN F2fE |KERZIE A 668 0| 668
291 | REERIEMASE RIGEER B [EXR—AI=E A 1815 0| 1815
291 | REERIEMASE RIGEXER B [LU-rToavsy—bIB | — 1272 o| 1272




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
291 | REEBRIEKASHE RBEXRM B4 |AIE — 946 0| 946
291 | RERZRITEMARE RIGEXER B (B EYMIE — 1345 0| 1345
291 | REERIEMASE RIGEXER B |SEIE — 1011 0| 1011
291 | REERIEMASE RIGEER B5n ([LeAtED2IE — 1596 0| 1596
291 |REEBRTEKRARH RIGEER B |KERERISE A 1108 0| 1108
291 | REERIEMASE RIGEER L N 37 = — 1173 0| 1173

80210| REER T MRSt BRAE XM B [EXR—AI=E A 1503 0| 1503

80210(FREER T EMA R EBEEXM B |[HEISE — 1733 0| 1733

31904 KB EMA S BREEXER B (B EMIE — 1051 0| 1051

31904 | B EHR A= BEEER B |KERERISE A 1050 0| 1050
| RBESHKASHE ANXE B [EXR—AI=E A 1725 0| 1725
A2 RBEEMREE AMXIE B |BE-—HXIFE A 1808 0| 1808
A2 RBEERMREE AMXIE B |KERERISE A 1132 0| 1132
18| KRRttt BEEXER B5 |BRIE — 1159 0| 1159

80379| IR AT LAFHHA 21t B5 |BRIE — 776 o| 776

80379 | IR AT LAFHHA 21t B5 |BRBEIS — 961 0| 961

42516 | RECATYIBA S RIGE XM B [EXR—AI=E A 1325 0| 1325

42516 | RECATYIBA S RIGE XM B [LU-tT-avsy—bIB| — 1475 0| 1475

A3 MR EHERAETE AMX#t B5 |BRIE — 1527 0| 1527
RIEABRIEMARE RBEERR #2f |EXIE — 1793 0| 1793

18674|REAVITVRATLAKARK AM*Zt| B4 |BERIE — 1867 0| 1867

18674|REAVITVRATLABARK AMEit| B4 |MEBEREIS — 1353 0| 1353

18674| REAVITVRATLAKRRME AMXZHE| B4 |BRBEIS — 1636 0| 1636
BB|RZILA—aA =t NNzt B |(mBEREIS — 1393 0| 1393
945 | HR =M R REE MR |EARA—HKIE A 843 10| 853
945 | HR =M R REE TR |ev-tI-avsy—bIE| — 775 10| 785
945 | HR =M R REE MR |[BIE — 669 10| 679
945| R R RER MR |HEEYMIE — 669 10| 679
945 | HR =MW RE% MmN |[HEIE — 686 10| 696
945 | HR =t R RE% MmN |LwAEDIE — 669 10| 679
945 | B R RE% MR | EETE — 669 10| 679
945| RS R RER MmN [KERRIE A 671 10| 681

26307 | X =L R[5 MmN |EARA—HKIE B 643 0| 643

26307 | X =L R[5 MmN |[FLARARLRE — 591 0| 591

26307 | X L S A vt avsy—bIE | — 653 0| 653

MIBB|IHAEHEFIRATL B5 |BRIE — 977 o] 977

MIB|IHAEHEFIRATL B5 |BERBEIS — 652 0| 652

80321 | X R B R MFH BA [BERIE — 833 0| 833

80321 [ XS EFEN S A MFHE BAN |(BRBEREIS — 779 o] 779

80525 | MKt WA 7IAIL F15E (MWFERELS — 461 0| 461
15| BAMRAR—ViERK X =4t B [EXR—ARI=E A 906 0| 906




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
1M15|HAMRAR—ViESRK X =4t B\ [LU-tT-avsy—bIB| — 672 o 672
15| BAMRAR—ViESRKX =4t B |SEIE — 851 0| 851
15| BAMRAR—ViESRKX =4t B5 [ERIE — 672 0| 672
806 (kR b—47= FEXIE Bs [EIE — 843 0| 843
806| X Etth—4= FEXIE RS |(mBEREIS — 935 0| 935
806| X Ettb—4= FEHXIE B |KERERISE A 1019 0| 1019

31925| BB &t b—42Ra—FRKL—ay BA [EX—AI=E B 703 0| 703

31925|FR &t —2Ra—KL— 3> B |[cv-xT-avsy—tIsE| — 667 0| 667

31925| R &t h—H2RXa—RKL— a3y BR |HBEMIE — 613 0| 613

34977 | MK S =R AT T RARA R 25 |BE-—HXIE A 851 0| 851

34977 | R b—FIIL AT A TR AR B5 |MELLETIE — 1178 0| 1178

39102 | ¥R 4L FFIEEX TR BA (HEEYMIE — 676 0| 676

39102 | X =+t BHE K TRl BA |HBELEIE — 648 0| 648
574| kX =41 EKHE MmN | ARA—HKIE C 556 10| 566
574| kX =41 EKHE MmN |[FLARLRE — 525 10| 535
574| X 4L EKHE TR |ev-tI-avsy—bIE| — 581 10| 591
574| X =+LEKHE MR [(FEIE — 513 10| 523
574| kX =4LEKHE MmN (RIS — 587 10| 597
s12|fEkEEHKARH MmN |EARA—HKI=E A 798 0| 798
812|fEkEEH A4 MmN (BE-AXIE A 889 0| 889
s12|fEkEEHKARH TR |ev-tI-avsy—bIE| — 757 o| 757
s12|fEkEEHKARH MmN |(RARIE — 706 0| 706

26293 |{EKEBE T % MmN |[EARA—HKI=E C 580 0| 580

26293 |fEKERIE I % il 2 PGS — 572 0| 572

26293 |{EKEBE T % TN |BEIE — 638 0| 638

26293 |fEKEREIT % MmN |[KERRIE A 628 0| 628

80203 (fEE MR AMIE B [EXR—AI=E A 1464 0| 1464

80203 |fE R EHRMA R AMKIE 25 |BE-—HXIE A 1495 0| 1495
WI|FHEHRMKAEHE AMXIE B [EXR—AI=E A 1894 0| 1894
WI|FHERMKAEHE AMXIE B85 | TLARLRE — 1493 0| 1493
BT FHESKARHE AMXIE B |BE-—HXIE A 1913 0| 1913
WI|FHERMKAEHE AMXIE By [LU-xToavsy—bIB| — 1501 0| 1501
WBI|FHESZRKASHE AMXE Bs [BERIE — 1367 0| 1367
W FHESZRKARHE AMXE Bs [EIE — 1355 0| 1355
WI|FHEZMKAEHE AMXKIE B (HEEYMIE — 1344 0| 1344
WV FHESZRKASH AMXE B (HRELSMIE — 1344 0| 1344
WBI|FHESZRKASHE AMXE Ba (NELLETE — 1386 0| 1386
BT FHESKARHE AMXIE B5 |KERERISE A 1497 0| 1497
WI|FHERMKARHE AMXIE B (RIS — 1300 0| 1300
344|b /WD EBEKAEH BA [EXA—AI=E A 782 o 782
344|F/HITBEEHRA A BR |BRIE — 1071 0| 1071




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] x5 TE | Isoms |svv|sma | TER L8
344|b /N BEKRAEH BA [EISE — 782 0| 782
344|b/hUBEMA R BAN |(BRBEREIS — 709 0| 709
344|F/HITBEEHRA A BR |BERBEIS — 949 0| 949
344|F/HITBEBEHRA A BN |HERERTIE — 735 0| 735

6| REEZM®RAEHE NIMKIE B [EXR—AI=E A 1713 0| 1713
6| REEEMARH AMKIE 25 |BE-—HXIFE A 1656 0| 1656
6| REEZM®RAEHE NMKIE B\ [LU-rT-avsy—bIB| — 1326 0| 1326
6| REEEMARH AMKZIE B |KERERISE A 1310 0| 1310
6| REEZMRAEHE NMKIE B9 |fRAIE — 986 0| 986
3B|EIT MR BREIEEM B |(mBEREIS — 1193 0| 1193

22823 | kX2t bES BA [EX—AI=E A 985 0| 985

22823 | kX2t bES BR | FLARLRE — 798 0| 798

22823 | ‘%X R NES BR |BE—AXIF A 702 0| 702

22823 | kX2t hES BN [KII=H — 688 0| 688

22823 | kX2t bES B |[cv-xT-avsy—tIE| — 772 of 772

22823 | kX2t bES BA [ZEIZE — 722 o] 722

22823 | kX2t bES BERN |AIE — 688 0| 688

22823 | kX Rt hES BA (BRIE — 688 0| 688

22823 | kX Rt bES BA [EISE — 698 0| 698

22823 | kX2t bES B |(24L-han-JovoTs| — 688 o| 688

22823 | XSt MES BA (HEEYMIE — 706 0| 706

22823 | R MES BR |HBELEIE — 702 0| 702

22823 | kX2t hES BA [#KHIE — 688 0| 688

22823 | kX2t hES BA |[HEISE — 692 0| 692

22823 | kX2t hES BR |LwAtEDIE — 738 o 738

22823 | kX2t hES BA (BEIZE — 754 0| 754

22823 | R MES BN |NELLEIE — 688 0| 688

22823 | kX2t bES BAN (BEIE — 688 0| 688

22823 | %X R NES BR |KEBHRISE A 812 0| 812

22823 | kX Rt bES BA |(BAIE — 706 0| 706
9IN2|EAK T =TI T AR BR |BRIE — 637 0| 637
9IN2|EAK T =TI T KA R BR |BEIE — 663 0| 663
9INR2|EAK T =TI T KA R BA |(BRBEREIS — 698 0| 698
IN|EAKILO=TIL T HA RN BR |KEREHRISE A 659 0| 659

or(FUakkX =4t fBREIZIE B [ER—ARI=E A 785 0| 785
or(F Uk =4t fBREIZIE B5 |BRIE — 796 0| 796
or(FUakkX =4t fBREIXZIE Bs [EIE — 979 0| 979
or|F) kX =#t BREXZIE B |(mBEREIS — 1189 0| 1189
or(F Uk =4t fBREIZIE Bo [KHIFE — 1098 0| 1098
or|F) kK =#t BREXZE B |KERERISE A 1064 0| 1064
20 XA BEERMER EEXE B5 |BRIE — 1310 0| 1310




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
20 X BEERER EEXE B9 |(mBEREIS — 1533 0| 1533
241 | (XU BEESRERT EEXE B |KERERISE A 1364 0| 1364
SV KA HFTAURTAY BA [EXA—AI=E B 663 0| 663
819K R FT AV RTAY BA [EIS — 577 0| 577
819K FT AV RT1Y BR |SEIE — 572 0| 572
879| MK EHF AV RTAY BA [KEREEZTE B 572 0| 572
819K F AV RT1Y BR |f#AIE — 582 0| 582

16175 | BRR=H P EEEE MmN |EARA—HKIE A 747 10| 757

16175 | BRR=Ht P EEEE MmN |[FLARRLRE — 655 10| 665

16175| AR EEE MmN (BE-AXIE A 791 10| 801

16175| BR St P REES A vt oavsU—bIE | — 638 10| 648

16175 | HRR=H P EEEE MR [(FEIE — 638 10| 648

16175 | HRR=H P EEEE MmN (HEIE — 630 10| 640

16175| AR EEE MmN [KERBRIE A 640 10| 650

37259 MK RIGALHF BA [EISE — 716 0| 716

37259 MK RIGAIHF BRN |(BRBEREIS — 806 0| 806

37259 MK RIGAIHF BA [KEREEZTE A 756 0| 756

43602 | R EE A4 #F1fg | RA—HXIE B 725 ol 725

43602 | R EE R =1L F178 |[TLARL R — 725 0| 725

43602 | R EEHA 1T F15E (BE—AIE A 742 0| 742

43602 | R EE R =1L B |- Tavs—bTIE | — 906 0| 906

43602 | R EE R =1L F1E (FEIE — 789 0| 789

43602 | R EE A4 F11E (BERIE — 939 0| 939

43602 (R EEMRA R4 #1718 |EIS — 923 0| 923

43602 | R EE R =1L #1172 |HBEMIE — 782 0| 782

43602 | R EE A4 F15E (MELBIE — 750 0| 750

43602 | R EE A4 F1E WELE — 725 0| 725

43602 (R EE R =1L F17E |BEIE — 721 o] 721

43602 | R EEHA 1T F15E (MWFERELS — 872 0| 872

43602 | R EEMRA R4 #1172 |ERBEEISE — 782 0| 782

43602 | RIEE R =1L F1f8 |KERZISE A 740 0| 740

43602 | R EEMRA R4 #1758 VHEEER IS — 743 0| 743

43602 | RiIFEE A4 F11E (RATIE — 771 o 771

80317 | MKt RIGES TR (BE-HXIE A 842 10| 852

80317 | MRt RIGES TR | ZBEIE — 680 10| 690

80317 | MKt RIGES MR |BhKIE — 622 10| 632
678| RIS —ITAHKEA =1 BR |BRIE — 711 ol 711
678| RIS —ITAHKA =1 BR |BERBEIS — 600 0| 600

29598 | FRR=#t RIBHE E&%(H BA [ERX—AI=E B 677 ol 677

29598 | FRR=#t RIBHE EE%E BN |FLARLRE — 586 0| 586

29598 | FRR= 1 RIBHE EE%E BA [EISE — 581 0| 581




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
29598 | B Rt RIGFEEE BA [KEREEZTE B 592 0| 592
S |MXEHRIGFARER REEXER F2fE |t RA—XIE A 1108 0| 1108
S| RIGFARER REEXER F27& |TLARL R — 886 0| 886
S |MARHRIGFEAIESR HREEXM F2fE (BE-—ATE A 786 0| 786
S| RIGFARER REEXER $2f8 | KIIE — 741 0| 741
S| RIGFARER REEXER $2f8 | EEISE — 741 0| 741
S| RIGFEARER REEXER B2 |- LT avs—bTIE | — 901 ol 901
MR RIGHEINESR REEXRM F2fE I FEIE — 786 o 786
S| RIGFARER REEXER $2f8 RIS — 741 0| 741
S| RIGFARER REEXER #2f |BRIE — 741 0| 741
S| RIGFARER REEXER FE21& |84 -hAar-TovsTHl — 741 o 741
S MAHRIGFEEESR HREEEM F2fE (MEEYMIE — 741 0| 741
S| RIGFARER REEXER F2fE (MELMIE — 741 0| 741
MU RIGHEINESR REEXRM F2fE |BHIE — 749 ol 749
S| RIGFARER REEXER F2fE WEIE — 741 0| 741
S| RIGFEARER REEXER #2fE |LwAEDIE — 741 o] 741
S| RIGFARER REEXER F2fE |REIE — 741 o] 741
S| RIGFARER REEXER F2fE |HZAILE — 741 o] 741
MU RIGEINESR REEXM F2f8 |BEIE — 847 o| 847
S| RIGFARER REEXER #27& |BhKIE — 756 0| 756
S| RIGFARER REEXER F2fE (NELLETSE — 741 o] 741
S| RIGFEARER REEXER F278 |BMER IS — 741 o] 741
S| RIGFARER REEXER #2fE |EEIE — 741 0| 741
S| RIGFARER REEXER ¥2fE (BEISE — 741 0| 741
S MU RIGFEEESR HREEEM F2fE |KERZIE A 850 0| 850
S AR RIGHENESR REEXM F27E |BAIE — 845 0| 845
M| HRIGRE BA [EXA—AI=E B 720 0| 720
AN HAHRBRE BN |BE—AXITE A 968 ol 968
M| RIGRE BR |[U-rT-avsy—bIH| — 682 0| 682
M| RIGRE BA |(BAIE — 739 0| 739
26184 (X2t RIGHBR BA [EXA—AI=E B 626 0| 626
26184 (X2t RIGHBR BR | FLARLRE — 626 0| 626
26184 (X2t RIGHBR B |eU-tT-avsy—bIE| — 814 o| 814
26184 (X2t RIGHIBR BR |ZEIE — 788 0| 788
26184 (X2t RIGHIBR BA [KHIFE — 703 0| 703
50| RIFESHARH BR |BRIE — 859 0| 859
50| RIFESHARH BRN [EIFE — 715 0| 715
50| RIFES A= BAN |BRBEREIS — 648 0| 648
50| RIFERHA S+ BA [EXREEIE — 798 ol 798
147 RIGEEH|RA 4 BR |BRIE — 1005 0| 1005
47| RIGEEH|RA 4 BAN |(BRBEREIS — 693 0| 693




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
47| RIGEEH|RA 4 BN |[EXAEEIE — 843 0| 843
47| RIGEEH|RA 4 BA [PHEHAERTISE — 782 0| 782
91X RBLTEIXM BA [EX—AI=E A 798 0| 798
91X RBLEIXM BR |BE—AXIF A 1017 0| 1017
91X RBLTEIXM BR |[U-rT-avsy—bIB| — 728 o 728
91X RBLEIXM BR |SEISE — 665 0| 665
91X RBLTEIXM BA |KEBHRISE A 693 0| 693
91X RBLTEIXM BR |fAIE — 771 o 77
16186 | kX =1t RIGHEA TN |BEIE — 713 10| 723
41151 | XS RIGE BA [EX—AI=E A 896 0| 896
41151 | XS RIGE BR |SEISE — 986 0| 986
41151 | XSt RIGE BR |KEBHRISE A 760 0| 760
26235 | X2 RIGISH BR |BRIE — 660 0| 660
26235 | X2 RIGISH BA [EISE — 670 0| 670
26235 | X2 RIGISH BA [PHEAEERTIE — 875 0| 875
167 | RIS ETEMRA 1 F15E (BE—AIE A 675 0| 675
167 | RIBAETE/RKX S #1718 |EIS — 793 0| 793
167 | RIGESETEMRA 1 F11E (MWFERELS — 785 0| 785
AR RBEESR MmN |EARA—HKIE A 858 40| 898
¥ AU ERERE TR |BE-AKIE A 688 20| 708
AR RBEES MR (vt Toavsy—rTE | — 779 40| 819
A RERER TN |BEIE — 688 20( 708
A RBEES MmN |[HEIE — 688 20( 708
At RBEES MR [LwAEDIE — 717 20( 737
A RBEES TR | ZBEIE — 688 20( 708
¥ AU ERERE MR |[KERRIE A 688 20| 708
AR RBEES MmN |(RARIE — 693 20 713
60| B4t N | ARA—HKIE A 921 100 1021
60 B4t TR |ev-tI-avsy—bIE| — 731 40| 771
60| B4t MmN |BEIE — 634 40| 674
60| B4t TR |SETE — 634 40| 674
60| B4t MmN |LwAEDIE — 634 40| 674
60| P SEFEMA 1T MR [KERRIE A 639 10| 749
60 B4t MmN (RIS — 639 40 679
80315(h ik =4t BA [EXA—AI=E A 903 0| 903
80315| M SEEMA 1T BR |BE-—AXIF A 945 0| 945
80315(h itk =4t BR |[U-rT-avsy—bIB| — 701 o| 701
80315 itk =4t BERXN |AIE — 701 0| 701
80315(h itk =4t BR |SEISE — 774 0| 774
80315(h itk =4t BA [LeAtED2IE — 701 0| 701
80315(h itk =4t BR |KEBHRISE A 701 0| 701




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
80315(h ik =4t BR |f#AIE — 736 0| 736
10502 | kX =4t HEE BA [EX—AI=E A 922 0| 922
10502 | kX =4t HEE BN |FLARLRE — 775 ol 775
10502 [Me X &+t P AES BN |ev-tToavoy—bIE| — 792 0| 792
10502 | kX =+t HEER BR |SEIS — 720 0| 720
10502 | kX =+t HEER BAN [(EBIE — 744 0| 744
10502 | kX =4t HEER BR |KEBHRISE A 835 0| 835
10502 | kX =4t HEE BR |f#AIE — 707 0| 707
42524 |k K=t P ARERT RIGEZEFR Bs [EIE — 1256 0| 1256
657 | (XS FHRY #F1fg | RA—HXIE B 725 0| 725
657 | (XS FHRY F17& |[TL AR — 717 ol 717
657 | XKL FHRY F15E (BE—ATE A 779 0| 779
657 | (XS FHRY #1718 |ERIE — 782 0| 782
657 | (XS FHRY #1718 |EIS — 889 0| 889
657 | XKL FHRY F17g |HBEMIE — 797 o| 797
657 | MRS FTHRY F15E (MELBIE — 717 o 717
657 | (XS FHRY F1fE |BEIE — 795 0| 795
657 | (XS FTHRY #1578 |BhKIE — 736 0| 736
657 | XKL FHRY F15E (MWFERELS — 944 0| 944
657 | XKL FHRY F1fE |KEREISE A 782 0| 782
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73| BR=HHIINEH MmN |LwAEDIE — 619 0| 619
73| BR=HHMIINEH MR | EETE — 595 0| 595
18612| X = (LK MmN | ARA—HKIE A 772 o 772
18612| X = (ALK MmN |[FLARARLRE — 655 0| 655
186124 X=&H LR A |e-£I-av)—bIE| — 651 0] 651
18612| XK= (LK MmN [(FEIE — 630 0| 630
18612| X = (ALK MR |[BIE — 615 0| 615
18612| X = (LK MmN |[HEIE — 630 0| 630
18612| X = (LK MmN |LwAEDIE — 615 0| 615
18612| XK= (LK MmN |KERRIE A 620 0| 620
18612| kX = (ALK MmN (RIS — 615 0| 615
10506 |(HRR=##1H & MR |EARA—HKIE A 740 15| 755
10506 |[HRR=#F1H & MmN (BE-AXIE A 674 15| 689
635| (kX B LTV MmN (BE-AXIE A 791 10| 801
22829 | X2 BABET I /X BRXIE B5 |BRIE — 1218 0| 1218
22829 | X =t BAE TV /R fRREXIE B5 BEXREIE — 1074 0| 1074
62 XEHAEE NINXIE B5 |BRIE — 1830 0| 1830
62( M XEHAEE NINZIE Bs [EIE — 1144 0| 1144
62(#XEHAEE AINKIE B (EmBEREIS — 1268 0| 1268
62| X2 BAEE NNXIE Bs BEXAEEIE — 1388 0| 1388
35001 | A2+ —a—HKEt AMEFER F2E (BERIE — 1726 0| 1726




SHOEE—MRBFEEFALGEEFEAIL) AfLSMERERE(BERITE)[50FE]
BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
35001 AR+ —R—tkRAEtt AMEZEER F2fE (MWFERELS — 1657 0| 1657
35001 | A2+ —a—HKEt AMEFER F2fE (BERBREISE — 1502 0| 1502
37265 |#or—s—o—ERMter Bgigess BRign | B |MEBEREISR — 1099 ol 1099
37265 |#or—s—o—ERMter Bgiessn BRign | B4 |KERESEIE A 1078 ol 1078
1108 | HEREH KSR MmN |EARA—HKIE B 608 10| 618
1108| Rt A S5 s TN |BEIE — 620 10| 630
1108| BREH A SR MmN [KERRIE A 691 10| 701
479 | K HL HFFE MR |EARA—HKIE A 907 30[ 937
479 |t BB TR |BE-AKIE A 685 30 715
479 | KA HFFE TR |ev-tT-avsy—bIE| — 741 30 77
479 | KA HFFE MR |[BIE — 672 30[ 702
479 |+ HFBAF mN (SEEMIE — 672 30[ 702
479 |2 HFFE MmN (HEIE — 672 30[ 702
479 |2 HFFE MmN |LwAEDIE — 672 30[ 702
479 | KA BB FE TR | ZBEIE — 672 30[ 702
479 | BB MR |[KERRIE A 672 30[ 702
479 | K HL HFFE TR |fEAIE — 686 30 716
43600 |FFFNEEE TR |BE-AXIE B 520 15| 535
43600 |FRFNIEEE MR | KIIE — 445 15| 460
43580 | MR =1t M BRAE XA B [EXR—ARI=E A 1487 0| 1487
10512 RS HFER MR |EARA—HKIE B 671 20 691
10512 RS HFER MmN |[FLARLRE — 671 20 691
10512 RS KFER TN |BEIE — 765 20| 785
10512 RS HFER MmN [KERBRIE A 667 20| 687
20611 |RX R FHESBIAT AMEEXIE B (B EMIE — 801 0| 801
20611 |RX R FHESBIAT AMEEXIE B9 |(mBEREIS — 948 0| 948
20611 |BRX R FHESBIAT AMEEXIE B4 |KERERISE A 952 0| 952
43589 (AR HHZRERTETISE BA [BERIE — 843 0| 843
42521 | HFIM T EMA S BRAXIE B4 |KERERISE A 1179 0| 1179
42487 |t FEIHE BRN (BE-AI=E A 1102 0| 1102
42487 (Rt HFEIHBE BR |[U-rT-avsy—bIB| — 731 ol 731
42487 |t FEIHE BR |f#AIE — 901 0| 901
80531 [HRE#FHILE BA [EX—AI=E B 632 0| 632
80531 (HRE#FZHLE BR |[U-rT-avsy—bIH| — 678 ol 678
80531 [HRE#FHILE BA [EIFE — 764 0| 764
80531 (HRE#FZHLE BR |HBEMIE — 619 0| 619
80531 | AMRES#HHFHB/IE BAN |(BRBEREIS — 742 0| 742
80531 [HRE#FBELE BN |HHERTIE — 629 0| 629
80531 [HRE#FHEILE BR |f#AIE — 622 0| 622
553| BREHEYPFEEE MmN |EA—HKI=E C 547 0| 547
553| AR EY PFERES MmN (BE-AXTIE B 629 0| 629




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
425|)\iL7 ) —oiR— b &4t MmN |[EARA—HKIE A 945 10| 955
425|)\iL7 ) —oiR— b &4t MmN (BE-AXIE A 897 10| 907
425|)\iL7 ) —oiR— b &4t TR |ev-tT-avsy—bIE| — 794 10| 804
425|)\iL7 ) —oiR— b &4t mA [BEIE — 710 10| 720
425|)\iL7 ) —oiR— b &4t TN |BEIE — 787 10| 797
425|)\iL7 ) —oiR— b &4t mN (SEEMIE — 865 10| 875
425|)\iL7 ) —oiR— b &4t MmN |(EHFERETLS — 777 10| 787
425|)\iL7 ) —oiR— b &4t TR | EETE — 873 10| 883
425|)\iL7 ) —oiR— b &4t MmN |KERRIE A 710 10| 720

80284 |kIIA—rA—av PO aH BREEER| B4 |BEKIE — 1386 0| 1386

80284 |&IIIA—tr—a R34 THR4t BEZEFR| B4 |[BERRBEIE — 916 0| o916

80391 | Rk EHEMA =1 BA [EXA—AI=E A 950 0| 950

80391 | Rk EHEMA 1T BN |FLARLRE — 801 0| 8ot

80391 | Rk EHEMA 1T BR |BE—AXIF A 871 0| 871

80391 | Rk EHEMA 1T BR |[C-rT-avsy—bIm| — 734 o 734

80391 | Rk EHEMA 1T BR |ZEIE — 719 ol 719

80391 | Rk EHEMA 1T BR |BRIE — 842 0| 842

80391 | Rk EHEMA 1T BA [EIFE — 703 0| 703

80391 | Rk EHEMA 1T BR |HBEMIE — 714 0| 714

80391 | Rk EHEMA 1T BA |HBELEIE — 714 o] 714

80391 | Rk EHEMA 1T BR |SEISE — 704 0| 704

80391 | Rk EHEMA 1T BA ([LeAtED2IE — 704 0| 704

80391 | Rk EHEMA =1 BA (BEIE — 731 0| 731

80391 | Rk EHEMA 1T BA (HKIE — 714 o| 714

80391 | Rk EHEMA 1T BR |BERBEIS — 707 o| 707

80391 | Rk EHEMA 1T BA [KEREEZTE A 714 0| 714

80391 | Rk EHEMA 1T BR |f#AIE — 741 o] 741

10626| KA T EHXEtE AMEFRFR B [ER—AI=E A 993 0| 993

10626| KA T EHXEtE AMEFRFR B [LU-xT-avsy—bIB| — 935 0| 935

10626 | RHA T ¥ =t AMEZEFR B (B EMIE — 1333 0| 1333

10626| XA T E#HXEtE AMEFRFR B |ELEIE — 1332 0| 1332

10626| KA T EHXEE AMEFRFR B (BEIE — 912 0| 912

10626 | RHA T ¥t AMEZEFT Bo [KERETE A 986 0| 986
602|HRR=# /\DERHM MmN |EARA—HKIE C 580 0| 580
602|HRR=# /\DERHM MmN |[FLARLRE — 573 0| 573
602|HRR=# /\DERHM WA |ev-rT-avs—bIE| — 568 0| 568
602|HRR=t /\DERHM MR [(FEIE — 563 0| 563
602|HRR=t /\DERHM MmN |BEIE — 563 0| 563
602|HRR=# /\DERHM TR | EETE — 644 0| 644
515| v EEEXMKA 4 BA [EXA—AI=E B 651 0| 651
515| v EEEMKA 4 BR |BE—AXIF A 696 0| 696




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E% S TRomE | 5vo | mEa | TER|ED
515| v FEEK/KA S BR |[U-rT-avsy—bIB| — 641 0| 641
515| v EEEMKA 4 BERN |AIE — 641 0| 641
515| v EEEMKA 4 BA (BRIE — 641 0| 641
515| v EEEMKARH BR |BRIE — 653 0| 653
515| v EEEMKARH BA [EISE — 641 0| 641
515| v EEEXMKA 4 BA |HBEMIE — 641 0| 641
515| v EEEXMKA 4 BR |SEISE — 641 0| 641
515| v EEEXMKA 4 BA [KEREZTE A 641 0| 641
515| v EEEXMKARH BN |HEMHERTIE — 849 0| 849

66 (Xt ILOHE BA [EXA—AI=E A 1050 0| 1050
664X+t ILOHE BN |FLARLRE — 890 0| 890
66 (kX =+t ILOE BR |BE—AXIF A 870 0| 870
664X+t ILOHE BR |[U-rT-avsy—bIH| — 841 0| 841
66 (X =+tILOHE BR |ZEIE — 841 0| 841
66| kX =+t ILO%E BERXN |AIE — 734 o 734
664X+t ILOHE BA [EISE — 993 0| 993
66|HkX =+t ILO%E BA |[HEISE — 1104 0| 1104
664X+t ILOHE BA [LeAtED2IE — 749 0| 749
66| kX =+t 1ILO%E BA (BEIE — 810 0| 810
664X+t ILOHE BAN [ERIZE — 783 0| 783
66 (kX =+t ILOE BA [KEREEZTE A 791 0| 791
664X+t ILOHE BR |f#AIE — 787 o| 787
368| X =4t IL A EER MmN |EARA—HKIE A 746 30| 776
368| X =LA EER MmN | KII=HE — 603 10| 613
368X eMtILOES A vt avsy—bIE | — 647 10| 657
368| X =4t IL A EER MR |[BIE — 603 10| 613
368| X =4t ILAEER MmN |BHTIE — 603 10| 613
68| =ttILOEEE MmN (HEIE — 603 10| 613
368| X =4I A EER MmN |[KERRIE A 603 10| 613
MalrRX=4t LGRS MmN |EA—HKIE A 812 70( 882
MalrRX=4t LGRS MmN |[FLARARLRE — 718 20 738
M4l LGRS MmN (BE-AXIE A 683 20| 703
MalrR=4t LR TR |ev-tT-avsy—bIE| — 695 20( 715
MalrRX=4t LGRS MR |ZEIE — 662 20| 682
MalrRX =4t LR MR |[BIE — 662 20| 682
4| LGRS mN (SEEMIE — 662 20| 682
MalrR=tt LR mN (SE LIS — 662 20 682
MalrRX=t LR TR |SETE — 674 20| 694
MalrRX=4t ILIBGEER MmN |LwAEDIE — 677 20( 697
MalrRX=tt LGRS TR | ZBEIE — 662 20| 682
MalrRX=t LR TR | EETE — 662 20 682




SHOEE—MRBFEEFALGEEFEAIL) AfLSMERERE(BERITE)[50FE]
BT EDHE (SM6E4A1B~SM74E3/831H)

] $E% S TRomE | 5vo | mEa | TER|ED
4|t LGRS MR |[KERRIE A 677 20| 697
MalrR=4t LR MR |fEAIE — 667 20| 687

10860 (#RX=HIUTEIT# BR |BRIE — 933 0| 933

10860 (#rRX=HILTEIT# BR |BERBEIS — 721 ol 721

80392 (LR =4t BA [ERX—AI=E B 714 o] 714

80392(ILREEE A4 BR |BE-—AXIF A 954 0| 954

80392 | LM A4t BR |f#AIE — 751 0| 751

26306| HR=t V<~ MmN |EARA—HKIE B 700 10| 710

26306| HRR=#t V<~ MmN |[FLARLRE — 597 10| 607

26306| AR=# V<~ TR |ev-tT-avsy—bIE| — 551 10| 561

26306| AR=# V<~ MR [(AEIE — 551 10| 561

26306| AR=# V<~ MmN |BEIE — 539 10| 549

26306| AR=# V<~ MmN |[HEIE — 539 10| 549

26306| HRR=# V<~ MmN |LwAEDIE — 539 10| 549

26306 | BR=#t v~k MR |[KERRIE B 591 10| 601
1024| E XL KFEEH RIBGE XA F11E (BERIE — 953 0| 953
1024| E XL KFEEH RIBGE XA #1172 |EREEISE — 846 0| 846

80534 (IL#THE R TR | ZBEIE — 503 0| 503

B[ e NS IURVRT LMK S BREBER | B4 |BEREEIS — 1170 0| 1170
189|IUAEEMA =4 MR |EA—HKIE A 926 50| 976
189(ILAREE A =4t MmN |[FLARARLRE — 773 20( 793
189|ILAREE RS A |[ev-tTavsy—bIE | — 743 20| 763
189|IUAEEMA =4 MR [(FEIE — 743 20| 763
189(ILAR A =4t TN |BEIE — 693 20 713
189(ILAR A =4t MmN (HEIE — 688 20| 708
189 ILAREE A4 MR |[KERRIE A 698 40| 738
189|IUAEEMA =4 MmN |fEAIE — 733 20| 753
183|ILAREEK_RA 1T MmN |EARA—HKIE A 757 10| 767
183|ILAREEK_RA 1T MR |FLARL AR — 652 10| 662
183|ILAREEM_RA 1T MmN (BE-AXIE B 620 10| 630
183|ILAREEM_RA 1T MR [BEIE — 620 10| 630
183|ILAREEH_RA 1T TN |BEIE — 620 10| 630
183|ILAREEM_RA 1T mN (SEEMIE — 620 10| 630
183|ILAREEHRA =1 m (SE LIS — 620 10| 630
183|ILAREEM_RA 1T MmN (EHIE — 620 10| 630
183|ILAREEKRA =1 MmN |[HEIE — 625 10| 635
183|ILAREEM_RA 1T MR [LwAEDIE — 620 10| 630
183|ILAREEMRA =1 TR | ZBEIE — 620 10| 630
183|ILAREEK_RA =1 TR | EETE — 635 10| 645
183|ILAREEK_RA =1 MmN |[KERRIE A 620 10| 630
183|ILAREEH_RA 1T MmN (RIS — 632 10| 642




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] $E4 TE | Isoms |svv|sma | TER L8
550 | LU AR{EEREEE MmN (BE-AXIE B 617 0| 617
39137 | Yo v—IRLX—LRT LM S EEHER| B |[MEBREREIS — 1244 0| 1244
22| A —T7ARIFEIEH|RA 4 MmN |EARA—HKIE B 652 10| 662
22| A —T7ARIFEIEH|RA =4 MmN |[FLARLRE — 652 10| 662
2| 1—T7M &I EHRA S WA |ev-rT-avs—bIE| — 652 10[ 662
22| 1 —T7ARIFE I EH|RA =4 MR [(AEIE — 652 10| 662
22| A —T7 AR IFEIEH|RA =4 MmN |BEIE — 652 10| 662
22| A —T7 AR IFEIEH|RA =4 TN |BEIE — 899 10| 909
22| 1 —TFAHRBIEH/RASH MmN (HEIE — 652 10| 662
22| 1 —TFAHRBIEH/RASH MmN |(EHFERETLS — 652 10| 662
22| 1 —TFAHRBIE/RASH MmN [KERBRIE A 781 10| 791
22| A —T7ARIFEIEH|RA =4 MmN [HEER IS — 657 10| 667
1000 BRE#PSETEE MmN |EARA—HKIE C 532 0| 532
1000 BRE#PSETEE A |[ev-tTavsU—bIE | — 600 0| 600
1000 BRE#PSETEE TR [LwAEDIE — 528 0| 528
TNM|BERSU{KRE-1OTIVTTHAAD MmN (BE-AXIE B 558 0| 558
M| BERSU{KRE-1OTIVT7THAAD MmN (RESEETSE — 614 0| 614
M| BERSU{KRE-1OTIVT7THAD MR (BEIE — 611 0| 611
80393(# Xt RER BA [EXA—AI=E A 926 o 926
80393 | MKt KREHX BRN (BE-AI=E A 899 0| 899
80393(# A&t RER BR |[U-rT-avsy—bIB| — 800 0| 800
80393(# A=t RER BR |SEIE — 942 0| 942
80393 (#X&Ett RER BA ([LeAtED2IE — 715 0| 715
80393(# A=t RER BA (BEIZE — 747 0| 747
80393(# A=t RER BRN [EBIE — 759 0| 759
80393 | Xt KREHR BA [KEREEZTE A 796 0| 796
80393 (# A&t RER BR |f#AIE — 821 0| 821
460| 2 TE /A=A MmN [T ARA—HXI=E A 785 20| 805
460| 2 TE /A=A TN |BEIE — 889 40 929
460 2 TEHA=H MmN |(EHEFERETLS — 746 20 766
460| 2 TEHA =K MmN |[KERRIE A 826 20| 846
460| 2 TEHKA =4 MmN [HEERIE — 679 20( 699
80532 (# A1 AAHKY—ER MmN [HERERIE — 673 10| 683
29584| 1 =JOEB T HES4t MR [ERIE — 664 0| 664
34901 [#AIV 1 —avH—E KRS AMZE | B |BERIE — 1525 0| 1525
34901 [#AIV 1 —SarH—E RS AMZE | B |BERBEEISE — 1360 0| 1360
982| X =L FHIIHE #2fE |t RA—XIE A 995 ol 995
982| X =L FHIIHE F27& |[TLARL R — 814 0| 814
982| X H I F2fE (BE—ATE A 976 0| 976
982 | kX244 FofE (LU T-avy—rTE | — 688 0| 688
982| X = FHIIHE F2fE (AEIE — 688 0| 688




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] *H4 TE | Isoms |svv|sma | TER L8
982| X =4t FHIIHE $2f8 RIS — 688 0| 688
982| X =+ FHIIHE #2718 |BRIE — 735 ol 735
982| X =+ FHIIHE $2f8 |EIS — 714 o] 714
982| X2 H I #2272 |HEEMIE — 746 0| 746
982| X =4 FHIIHE F2fE (MELMIE — 746 0| 746
982| XL FHIHE F2fE HEISE — 713 o] 713
982| X =+ FHIIHE #27E |LwAEDIE — 688 0| 688
982| X =+ FHIIHE F2fE | BEIE — 688 0| 688
982| X =+ FHIIHE F27& |BhKIE — 771 o 77
982| X H I F2fE |KERZIE A 720 0| 720
982| X =+ FHIIHE F28E (RATIE — 729 o] 729

2| BFEEMAEH MmN |EARA—HKIE A 1108 70( 1178
2| BFEEMAEH MmN |[FLARRLRE — 885 20[ 905
20FNEEHAH MmN (BE-AXIE A 1037 20| 1057
2| BFNEEMAEH MR (vt Toavsy—bTE| — 806 20| 826
2| FNEEMA R TR |fHEEYMIE — 816 20| 836
2|FIEEHRA=H mN (SE LIS — 816 20( 836
20FNEEHA=H MmN (HEIE — 1118 20| 1138
2| BFNEEMAEH MmN |LwAEDIE — 721 20 741
2| BFNEEMAEH MmN (RIS — 790 20( 810
4T\ EHBTRIE MmN |EARA—HKI=E A 967 50( 1017
ATT|IBREHBERIE MmN (BE-AXIE A 1034 20| 1054
AT HASHERIE MR |EEISE — 743 20| 763
477 | T RTE A vt avsy—bIE | — 819 20| 839
477\ SHBTRIE TN |3 L-hant-JovsTEl — 705 20| 725
477\ MM BTRIE T |SETE — 715 20| 735
4T\ SHBFRIE R | BETE — 720 20( 740
AT HAHERIE MmN |BhKIE — 715 20| 735
AT EHBERIE MmN [KERRIE A 697 20| 717
ATT|IBREHBERIE MmN (RIS — 803 20| 823

80533 | MR EKEEX RIFEXIE B [EXR—AI=E A 1064 0| 1064

80533 | MR BEKEEX RIBGEXIE B |BE-—HXIE A 1176 0| 1176

80533 | MR BEKEEX RIBFEXIE B4 |ev-rT-avoy—bIE | — 1039 0| 1039

80533 | MR BEKEEX RIBGEXIE B |ZEIE — 947 0| 947

80201 [#RRXEHEARNITVY BAN |BRBEREIS — 720 0| 720

34976 | ZA b IE MR B RBFEXRFR #F1fg | RA—HXIE A 1509 0| 1509

34976 | ZA b IE MK B RBFEXRFR F17& |[TLARL R — 1299 0| 1299

34976 |2/ b IE MK B RBFEXRFR F11E [L0-£T-a09)—bIE | — 1828 0| 1828

34976 | S/ TEHK A= RIGEXEFR F1fE [ FEIE — 1732 o| 1732

34976 | M FTLEMA S RIFEZER F15E (MEEYMIE — 1403 0| 1403

34976 | ZA P IE MK B RBFEXRFR F15E (MELBMIE — 1178 0| 1178




THEFEE—MWBRF AN FERBEALL) AFSMERELE(BRTIE)[50FE]

BT EDHE (SM6E4A1B~SM74E3/831H)

] *H4 TE | Isoms |svv|sma | TER L8
15| AEHTA LI ER MmN |EARA—HKIE A 802 0| 802
15| RXEHSM LA E MmN (BE-AXIE A 978 o] 978
15| AEHTA LI ER MR (vt Toavsy—rTE| — 685 0| 685
15| AEHTA LI ER MmN |BIRIE — 951 0| 951
155 | AEHTA LI ER MR [ERIE — 899 0| 899
55| (XS LAV ER mN (SEEMIE — 685 0| 685
155 | AEHTA LI ER MmN |(HEIE — 685 0| 685
155 | AEHTA LI ER MR |IRE&EIE — 905 0| 905
155 | AEHTA LI ER TR | BETE — 685 0| 685
155 | AEHTA LI ER MmN |BhKIE — 685 0| 685
15| RAEHTA LI ER MR (BRI — 685 0| 685
155 | RRHETMLAER MmN (RIS — 706 0| 706

26236 | BRE#F/H—ER MmN |EARA—HKIE B 612 0| 612

26236 | BRE#F/H—ER TR |ev-tT-avsy—bIE| — 720 o 720

26236 | BREF/H—ER MmN |[HEIE — 637 0| 637

26236 | BRI/ —ER R | BETE — 761 0| 761

26236| BRSO —EX MR |[KERRIE B 608 0| 608
137K EMA=H BREXZE RS |(mBEREIS — 1181 0| 1181
137K EMA=H BREXZE Bo [KERETE A 1233 0| 1233
206 | RX=ft5E MmN |EARA—HKIE A 917 10| 927
206| X2t = A vt avsy—bIE | — 750 10| 760
206 | RX=tt5E MR |[BIE — 682 10| 692
206| X1t mN (SEEMIE — 682 10| 692
206 | RX=ft5E MmN (HEIE — 900 10| 910
206 | RX=ft5E MmN |LwAEDIE — 682 10| 692
206 | RX=ft5E R | BETE — 682 10| 692
206| X1t MmN |[KERRIE A 682 10| 692
206 | RX=tt5E MmN (RIS — 682 10| 692
12X ER RIGXE Bs [EIE — 1429 0| 1429
12X ER RIGXE B EBiEER TS — 920 0| 920
12| EHhExlEH =4t MmN | A—HKIE B 589 20| 609
12| EHhExfEs =4t TN |BEIE — 709 20| 729
12| EHhExlEs =4t MmN |(EHFEERETLS — 608 20| 628
12| EHhExlEs =4t MmN |KERRIE A 653 20| 673
21|{YADN VB EEZSHKARE WMXIE B [EXR—AI=E A 1575 0| 1575
21|{YADN VB EZSHKARE WMXIE B |BE-HXIE A 1548 0| 1548

M140(LFRUT2hIL K E4E BA (BEIE — 836 0| 836

M140(LF R 2hIL K E4E BA (HKIE — 837 0| 837

10521 (#r X =1L IFHR B4 |aSL-hAb-TovoTE| — 789 ol 789

10521 | R R =1L {F R By |(mBEEREIS — 706 0| 706
168| EREEMA AL BA [ERX—AI=E A 988 0| 988




SHOEE—MRBFEEFALGEEFEAIL) AfLSMERERE(BERITE)[50FE]
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